
2º BCN Cálculo de derivadas 

1. xsenx − 2.   xxx ln3 +− 3.   xxsen ln⋅

4.   xx
x 11 +− 5.   2ln+

x
π

6.   xsenx ⋅2

7. xe
xx 1ln +⋅ 8.   )1(arccos 2 −x 9.   xx −23

10.  xtgxx ⋅+ )( 2 11.  )23( 2 +xsen 12.  xxsen
xxsen

cos
cos

−
+

13.  
4

ln
4

3 xxx −⋅ 14.  )( 54 xtg 15.  23 )3( +x

16.  
12

2

−x
x

17.  
x

e x 1− 18. )(cos xtg

19.  )(ln 2 xx − 20.  
x
x

cos1
cos1ln

−
+

21.  xtge

22.  
x
xln

23.  )cos(ln x 24.  2)1( −x
x

25.  )( xarctg 26.  33 xx ⋅ 27.  xsen
xsen 1+

28.  
1−x
x

 29.  2
1
xe 30.  )1(cot 3 2 −xg

31.  )2(arccos x 32.  xx + 33.  3
2

2

1
1

+
−

x
x

34. ( )1cos 4 +xe 35.  xx

xx

ee
ee

−

−

−
+

36.  xtg2log

37.
x

x
xsen






 38.  xxsen 22 cos3+ 39.  5

4log xe x ⋅

40.  x x3 41.  
x

x





 + 11 42.  ( )2ln xsen

43.  





x

arctg 1
44.  ( ) xarctgx 21+ 45.  2

12
xx
x
−

−

46.  xe
xx cos

47.  





+
−

x
x

cos1
cos1ln 48.  21 xarcsen −

49.  xarctg 2 50.  ( )( )xsensen cos 51.  xx +
+

+ 1
1

1
1ln

52.  22 xa
x

−
53.  xx ln

  IES  Emilio Ferrari                                          1 / 2



Soluciones:

1.  xcos1 − 2.  x
x

ln1
3

1
3 2

+− 3.  
x
xsenxx +⋅ lncos

4.  2

1
2

1
2

1
xxxx

−+ 5.  2x
π− 6.  xxxsenx cos2 2+

7.  xex
xxx ln1 2−+

8.  22

2

x−

−
9.  

xx
x

−

−
232

16

10.  
x
xxxtgx 2

2

cos
)12( +++ 11.  )23(cos6 2 +xx 12.  2)cos(

2
xxsen −

−

13.  32 )1ln3( xxx −+ 14.  ( )52

534

cos
)(20

x
xtgx

15.  3 33
2

+x  

16.  22 )1(
2
−

−
x

x
17. 2

1
x
eex xx +− 18.  x

xtgsen
2cos

)(−

19.  xx
x

−
−

2

12
20.  xsen

1−
21.  

x
e xtg

2cos

22.  2

ln1
x
x−

23.  xtg− 24.  3)1(
1

−
−−

x
x

25.  )1(2
1

+xx 26.  xx xx 333ln3 23 + 27.  
xsen
x

2

3cos−

28.  2)1(2
1
−

−−
xx
x

29.  
3

1
22

x
e x− 30. 

)1()1(3

2
3 223 22 −⋅−

−

xsenx
x

31.  xx 221
1

− 32.  
xxx

x

+

+
24

12
33.  

( )
3

2

2

2

22 1
1

13

4






−
+

+ x
x

x
x

34.  ( ) ( )11cos4 3 ++− xxx esenee 35.  ( ) 2

4
xx ee −−

−
36.  xsenxxsen 22ln

1
cos22ln

1
⋅

=
⋅

37.  ( )( )
x

x
xsenxgxxxsen 





−⋅+− 1cotlnln 38.  xxsenxx cos6cos2 2 −

39.  
4ln

5log5 4 x
exe
x

x + 40.  
( ) x x
x
x 3

2

ln13 −
41.  

x

xxx





 +





+

−




 + 11

1
111ln

42.  2cot2 xgx 43.  1
1

2 +
−
x 44.  12 +xarctgx

45.  ( ) 22

2 122

xx
xx

−

+−
46.  xe

xxxsenxx coscos −−
47.  xsen

2

48.  21

1

x−

−
49.  x

x

221
2ln2

+
50.  ( )( ) ( ) xxsensenxsen coscoscos−

51.  ( ) 21
2
x
x

+
−−

52.  ( ) 2222

2

xaxa
a

−−
53.  xx

x
x lnln2

  IES  Emilio Ferrari                                          2 / 2


